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   GENERAL INSTRUCTIONS IN EXAMINATION HALL 
 

A. General : 
1. This Question Paper contains 25 questions. Please check 

before starting to attempt. Physics (1 to 5),  Chemistry (6 to 10), 

Biology (11 to 15), Maths (16 to 20), Mental Ability (21 to 25)  

v- lkekU; % 

1. bl iz'u&i=k esa 25 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA 

HkkSfrd foKku (1 ls 5), jlk;u foKku (6 ls 10), tho foKku (11 ls 15), 

xf.kr (16 ls 20) , ekufld ;ksX;rk (21 ls 25)  

2. Space is provided within question paper for rough work 
hence no additional sheets will be provided. 

2. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k x;k gS vr% 

vfrfjDr :i ls dksbZ 'khV ;k isij ugha fn;k tk,xkA 

3. Blank paper, clipboard, log tables, calculators, cellular 
phones and electronic gadgets in any form are not allowed 
inside the examination hall. 

3. [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] dsYdqysVj] lsy Qksu ,oa 

fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA 

4. The answer sheet, a machine-gradable Objective 
Response Sheet (ORS), is provided separately. 

4. mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu 

}kjk tk¡ph tk,xh] vyx ls iznku dh xbZ gSA 

5. Do not Tamper / mutilate the ORS or this booklet. 5. vks-vkj-,l- ;k iz'u&i=k dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA 

6. Do not break the seals of the question-paper booklet before 
instructed to do so by the invigilators. 

6. iz'u&i=k dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk 

funsZ'k ugha fn, tk,saA 

7. SUBMIT the ORS to the invigilator after completing the test 
& take away the test paper with you. 

7. ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk 

iz'u&i=k vius lkFk ys tk,saA 

8. Any student found/reported using unfair means to improve 
his/her performance in the test, shall be disqualified from 
STaRT-2022. 

8. ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk 

iz;ksx djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og  

STaRT-2022 ds fy, v;ksX; gksxkA 

B.  How to fill Objective Response Sheet (ORS) for filling 
details marking answers: 

9. Use only HB Pencil for filling the ORS. Do not use 
Gel/Ink/Felt pen as it might smudge the ORS. 

c- vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr 

djus ds fy, fuEu izdkj Hkjsa % 

9. vks-vkj-,l- Hkjus ds fy, dsoy HB isafly dk gh iz;ksx djsaA 

tsy@L;kgh@QsYV isu iz;ksx ugha djsaA 

10. Write your STaRT-2022 Student Registration No. in the 
boxes given at the top left corner of your ORS with 
blue/black ball point pen. Also, darken the corresponding 
bubbles with HB Pencil only. 

10. viuk STaRT-2022 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds 

ck;sa dksus esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh 

Øekad ds vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly ls xgjk djsaA 

11. If any student does not fill his/her STaRT-2022 Student 
Registration No. correctly and properly, then his/her ORS 
will not be checked/evaluated. 

11. ;fn dksbZ fo|kFkhZ viuk STaRT-2022 fo|kFkhZ jftLVªs'ku Øekad 

lgh ,oa Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks 

pSd@ewY;kafdr ugha fd;k tk,xkA 

12. Since it is not possible to erase and correct pen filled bubble, 
you are advised to be extremely careful while darken the 
bubble corresponding to your answer. 

12. vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk 

fd;k tkrk gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh 

lrdZrk ls gh xksyksa dks xgjk djsaA 

13. Neither try to erase / rub / scratch the option nor make the 
Cross (X) mark on the option once filled. Do not scribble, 
smudge, cut, tear, or wrinkle the ORS. Do not put any stray 
marks or whitener anywhere on the ORS. 

13. ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k   

[kqjpus dk iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds 

/kCcs] xUnxh ;k flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA 

14. If there is any discrepancy between the written data and the 
bubbled data in your ORS, the bubbled data will be taken as 
final. 

14. ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k 

x;k rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA 

C. Question paper format and Marking scheme : 
15. For each right answer you will be awarded 4 marks if you 

darken the bubble corresponding to the correct answer and 
zero marks if no bubble is darkened. In case of bubbling of 
incorrect answer, minus one (–1) mark will be awarded. 

l- iz'u&i=k izk:i ,oa vad iznku fu;e %  

15. izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk 

fd;k x;kA ;fn xyr xksys dks xgjk fd;k x;k rks ¼–1½ vad dkVk 

tk,xkA ;fn fdlh xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad 

fn;k tk,xkA 

Best of Luck 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - I (PHYSICS) Hkkx - I ¼HkkSfrd foKku½ 
 

Straight Objective Type  
This section contains (1-5) Single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (1-5) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d 

lgh gSA 
 

1.  A car moves a distance of 200 km. It covers the first half of the distance at speed 40 km/h and second 

half of the distance by speed v. The average speed is 48 km/h.  Find the value of v 
 (A) 56 km/h  (B) 60 km/h  (C) 50 km/h  (D) 58 km/h 

 ,d dkj 200 fdeh- nwjh pyrh gSA ;fn vk/kh nwjh 40 fdeh-/?kaVk dh pky ls rFkk 'ks"k vk/kh nwjh v pky ls pyrh gSA 

;fn ek/; pky 48 fdeh-/?kaVk gS rks v dk eku gksxk & 

 (A) 56 fdeh-/?kaVk  (B) 60 fdeh-/?kaVk  (C) 50 fdeh-/?kaVk  (D) 58 fdeh-/?kaVk 
 

2.  In a rocket of mass 1000 kg fuel is consumed at a rate of 40 kg/s. The velocity of the gases ejected 
from the rocket is 5 × 104 m/s. The thrust on the rocket is  : 

 1000 kg nzO;eku okys jkWdsV esa bZ/ku dh [kir 40 kg/s dh nj ls gks jgh gSA jkWdsV ls 5 × 104 m/s ds osx ls 

xSl fu"dkflr gks jgh gSA jkWdsV ij iz.kksn dk eku gksxk & 

 (A) 2 × 103 N  (B) 5 × 104 N   (C) 2 × 106 N  (D) 2 × 109 N 
 

3.      If the value of ‘g’ at a height h above the surface of the earth is the same as at a depth d below the 
surface. When h is much smaller than the radius of earth, then :  

 ;fn i`Foh lrg ls h Å¡pkbZ rFkk d xgjkbZ ij ‘g’ ds eku leku gks rFkk h, i`Foh dh f=kT;k dh rqyuk esa cgqr de gks 

rc %  

 (A) d = h  (B) d = 2h   (C) d = h/2  (D) d = h2 

 

4.  A stone is dropped from a bridge and it reaches the ground in 4 seconds.  The height of the bridge is  
(g = 9.8m/s2) 

 fdlh iqy ls tc ,d iRFkj uhps fxjk;k tkrk gS rks og 4 lsd.M esa tehu ij igqaprk gS rks iqy dh ÅapkbZ gksxh& 

(g = 9.8eh-/ls2) 

 (A) 78.4 m(eh-)  (B) 64 m(eh-)  (C) 260 m(eh-)  (D) 2000 m(eh-) 

 
5. The principle of conservation of energy implies that -  
  (A) The total mechanical energy is conserved  (B) The total kinetic energy is conserved  
 (C) The total potential energy is conserved (D) Sum of all types of energies is conserved 

 ÅtkZ laj{k.k fl}kUr dk vfHkizk; gS&  

  (A) dqy ;kaf=kd ÅtkZ lajf{kr jgrh gS   (B) dqy xfrt ÅtkZ lajf{kr jgrh gS  

 (C) dqy fLFkfrt ÅtkZ lajf{kr jgrh gS   (D) lHkh izdkj dh ÅtkZvksa dk ;ksx lajf{kr jgrk gS 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - II (CHEMISTRY) Hkkx - II ¼jlk;u foKku½ 

 

Straight Objective Type  
This section contains (6-10) single choice questions. Each question has choices (A), (B), (C) and (D) 
out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (6-10) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d 

lgh gSA 
 
 

6. A mixture –       

(A) has a fixed composition.   (B) does not have a fixed melting point. 

(C) has a fixed melting point.   (D) is a pure substance. 

 ,d feJ.k & 

(A) fuf'pr vuqikr j[krk gSA   (B) fuf'pr xyukad ugha j[krk gSA 

(C) fuf'pr xyukad j[krk gSA   (D) ,d 'kqð inkFkZ gSA 

 

7. In which sublimation is involved : 

 (A) Incense stick and odonil   (B) Camphor and incense stick 

 (C) Perfume and odonil    (D) Naphthalene balls and camphor 

 fuEu esa ls dkSuls ;qXe Å/oZikru lfEefyr gSa % 

 (A) vxjcRrh vkSj vksMksfuy   (B) diwj vkSj vxjcRrh 

 (C) b=k¼ij¶;we½ vkSj vksMksfuy   (D) usQfFkfyu ckYl vkSj diwj 

 

8. Which of the following contains one mole molecules of the substance? 

 (A) 16 g Oxygen (B) 7 g Nitrogen  (C) 2 g Hydrogen (D) 36 g Water. 

 fuEufyf[kr esa ls dkSulh ek=kk mlds ,d eksy v.kqvksa ds cjkcj gS \ 

 (A) 16 xzke vkWDlhtu (B) 7 xzke ukbVªkstu (C) 2 xzke gkbMªkstu (D) 36 xzke ty 

 

9. 2NaOH + MgSO4  ?   

 (A) MgO + Na2SO4     (B) Mg(OH)2 + Na2O 

 (C) Mg(OH)2 + Na2SO4     (D) MgO + Na2O 
 

10. Which is a base and not an alkali ?  

 (A) NaOH  (B) Fe(OH)3  (C)  KOH  (D) none is true 

 tks {kkj gS ijUrq ,ydSykbZ ugh gS ?  

 (A) NaOH  (B) Fe(OH)3  (C)  KOH  (D) bueas ls dksbZ ugh 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - III (BIOLOGY) Hkkx - III ¼tho foKku½ 
 

 

Straight Objective Type  
This section contains (11-15) single choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (11-15) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ 

,d lgh gSA 
 

 

11. Ribosomes are the centre for : 

(A) Respiration  (B) Protein sythesis  (C) Photosynthesis  (D) Fat synthesis 

jkbckslkse fdlds dsUnz gksrs gS \ 

(A) 'olu  (B) izksVhu la'ys"k.k  (C) izdk'k la'ys"k.k (D) olk la'ys"k.k  

 

12.  Wall of urinary bladder is composed of – 

(A) Non striated muscle    (B) Striated muscle 

 (C) Stratified epithelium    (D) Transitional epithelial 

ew=kk'k; dh vUr% nhokj cuh gksrh gS& 

(A) xSj /kkjh/kkj isf'k;k¡  (B) /kkjhnkj isf'k;k¡  (C) Lrfjr midyk  (D) laØe.kh; midyk 

 

13.  The mule is an example of- 

(A) Cross breeding   (B) Interspecific hybridisation 

(C) Controlled breeding  (D) None of these 

[kPpj fuEu dk ,d mnkgj.k gS& 

(A) ladj.k  (B) var%tkrh; ladj.k (C) fu;af=kr iztuu   (D) buesa ls dksbZ ughsa   

 

14.  Flame cells are associated with- 

 (A) Respiration  (B) Excretion  (C) Nutrition  (D) Digestion 

 Tokyk dksf'kdkvksa dk lEcU/k gS  

 (A) 'olu ls  (B) mRltZu ls  (C) iks"k.k ls  (D) ikpu ls 

 

15. Which of the following organelle is associated with synthesis of lipid and lipid like steroidal hormones? 

(A) Mitochondria     (B) Lysosomes    

(C) Smooth Endoplasmic Reticulum(SER)  (D) Chloroplast    

fuEu esa dkSu lk dksf'kdkax yhfiM o fyfiM dh rjg LVhjkW;My gkWeksZu ds la'ys"k.k ls lacaf/kr gS - 

 (A) ekbVksdkWf.Mª;k     (B) ykblkslksEl   

(C) fpduh dks’'kdh; nzO; tkfydk(SER)  (D) gfjryod 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - IV (MATHEMATICS) Hkkx - IV ¼xf.kr½ 

 
 

Straight Objective Type  

This section contains (16-20) single choice questions. Each question has 4 choices (A), (B), (C) and (D) out of 

which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (16-20) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA 
 

 

16. If P = 7 4 3  and PQ = 1, then what is the value of 
2 2

1 1

P Q
  is 

 ;fn P = 7 4 3  rFkk PQ = 1, rc 
2 2

1 1

P Q
  dk eku D;k gS 

 (A) 196   (B) 194   (C) 206   (D) 182 
 

17.  If a + b = 12, ab = 17 then the value of (4 + a) (4 + b) is – 

 ;fn a + b = 12, ab = 17 rks] (4 + a) (4 + b) dk eku gksxk& 

 (A) 61  (B) 64  (C) 81  (D) 74 
 

18. Find out which of the following equation have x = 2, y = 1 as a solution. 

 fuEufyf[kr lehdj.k esa ls x = 2, y = 1 fdlds gy gS] Kkr dhft, 

 (i) 2x  + 5y = 9    (ii) x  + y + 4 = 0 

 (A) (i) only (dsoy)    (B) (ii) only (dsoy)  

 (C) (i) and (ii) Both ((i) rFkk (ii) nksuksa)  (D) None of these (buesa ls dksbZ ugha) 

 

19.  In  ABC , 
3

C

2

B

2

A 






 = 80°, then what is the value of  C ?  

  ABC esa , 
3

C

2

B

2

A 






 = 80° gks rc  C dk eku D;k gS & 

 (A) 35°   (B) 40°   (C) 60°   (D) 70° 

 

20. ABC PQR. If AB = 5 cm, B = 40° and A = 80°, then which of the following is true ? 

 ABC PQR. ;fn AB = 5 cm, B = 40° rFkk A = 80°  gks rc fuEu esa ls dkSulk fodYi lgh gS ? 

(A) QP = 5 cm, P = 60°    (B) QP = 5 cm, R = 60° 

(C) QR = 5 cm, R = 60°   (D) QR = 5 cm, Q = 40° 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

PART - V (MENTAL ABILITY)  Hkkx - V ¼ekufld ;ksX;rk½ 
 

Straight Objective Type  

This section contains (21-25) single choice questions. Each question has choices (A), (B), (C) and (D) 

out of which ONLY ONE is correct. 

lh/ks oLrqfu"B izdkj  

bl [k.M esa (21-25) ,dy&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 

gSA 

 
 

 

Direction (21 to 22) Find the missing term. 

funZs’'k : (21 ls 22) yqIr in Kkr djsaA  

 

21. 888, 440, 216, 104, 48, ?, 6 

 (A) 18   (B) 22   (C) 20    (D) 24 
 

22. (RSM) – 0, (TQO) – 10, (VOQ) – 20, ? 

 (A) (MXS) – 11  (B) (XMS) – 30  (C) (NXP) – 11  (D) (PXN) – 30 
 

23. In word ‘TRANSPARENT’ how many pairs of alphabets are present those have as many letters 

between them as they have in alphabet series. 

 (A) 1   (B) 2   (C) 3   (D) more than 3  

 ‘'kCn ‘TRANSPARENT’ es ,sls fdrus v{kj ;qXe gS ftues izR;sd ds chp es mrus gh v{kj gS ftrus fd muds chp 

vaxzsth o.kZekyk es gksrs gSA 

 (A) 1   (B) 2   (C) 3   (D) 3 ls vf/kd  

 

24. Seven boys  - A
1
,  A

12
,  A

21
,  A

3
,   A

13
, A

31
  and A

4
 are  sitting  in  a row. A

12
 sits to the immediate left of 

A
21

  and third to the right of  A
1
, whereas A

3
, who  sits  at the left extreme,  is next  to A

4
. 

 Who is sitting to the immediate right of A
12

? 

 lkr yM+ds  A
1
,  A

12
,  A

21
,  A

3
, A

13
, A

31
  vkSj A

4 
,d drkj es cSBs gq, gSA A

12
,A

21 
ds rqjUr ck;sa vkSj A

1
 ds nk;sa lss 

rhljs LFkku ij gSA A
3
,
 
tks fd drkj ds lcls ck;sa  LFkku ij gS] A

4 
ds fudVre gSA 

A
12  

ds fudVre nk;sa esa dkSu cSBk gqvk gS \ 

 (A) A
3
   (B) A

4
   (C) A

13
    (D) A

21 

 

25. In a row A & B facing north. A is 24th from left end & B is 25th from right end. C is 3rd right to A and 

immediate right to B. How many persons in this row? 

 ,d drkj es A o B mÙkj fn’'kk es eq[k djds cSBs gSA A ck;sa ls 24okW vkSj B nk;sa ls 25 os LFkku ij gSA C, A  ds 

nk;sas ls rhljs LFkku ij gS o B ds nk;sa cxy es gSA crkb;s drkj es dqy O;fDr fdrus gS\ 

 (A) 50    (B) 49   (C) 51   (D) 52 
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Space  for  Rough  Work (dPps dk;Z ds fy, LFkku) 

ANSWER KEY 
CLASS-X(SAMPLE TEST PAPER) 

 
Ques. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

Ans.  B C B A D B D C C B B A B B C 

Ques. 16 17 18 19 20 21 22 23 24 25 
 

Ans.  B C A B C C B D D A 
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